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PROPOSTA DE 
RESOLUÇÃO  

 

1. 

1.1 
 ହ 

ଶ
= 2,5 ;   ସ 

ଷ
= 1, (3) ;   ହ 

଺
= 0,8(3) ; 

 ଼ 

ଷ
= 2, (6) ;  

ଵସ

ହ
= 2,8 

1.2  Dizimas finitas 

  ହ 

ଶ
= 2,5 → comprimento 1 

 4,18 →  comprimento 2 

 1,125 → comprimento 3 

 ଵସ

ହ
= 2,8 →  comprimento 1 

 Dízimas infinitas 

  ସ 

ଷ
= 1, (3) → período 3 

  ହ 

଺
= 0,8(3)  → período 3 

  ଼ 

ଷ
= 2, (6) → período 6 

 0, (42) → período 42 

 2, (13) →  período 13 

1.3  0, (42) <
 ହ 

଺
< 1,125 <

 ସ 

ଷ
< 2, (13) <

 ହ 

ଶ
<

 ଼ 

ଷ
<

ଵସ

ହ
< 4,18 

 

2. 

2.1  𝟑

𝟓
−

ଷ

ଶ
=

଺

ଵ଴
−

ଵହ

ଵ଴
= −

ଽ

ଵ଴
 

2.2  ଷ

ସ
× ቀ−

଻

ଶ
ቁ = −

ଶଵ

଼
 

 

3.  

3.1   ଺ଵ

ଵହ
 

3.2  −
ଶଶ

ଵହ
 

3.3   ଷହ

ଷ
 

3.4   ଶ଻

଼
 

3.5  ଷ

ଶ
 

 

4. 

4.1 < 

4.2 = 

4.3 < 

4.4 > 
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PROPOSTA DE 
SOLUÇÃO  

5.   

5.1 (−5)ିଷ = ቀ−
ଵ

ହ
ቁ

ଷ

 

5.2 −3ି଼ = − ቀ
ଵ

ଷ
ቁ

଼

 

5.3 ቀ
଻

଼
ቁ

ି଺

= ቀ
଼

଻
ቁ

଺

 

5.4 ቀ−
ଵ

଺
ቁ

ିଷ

= (−6)ଷ 

 

6. Opção [A] 

[A] ቀ−
ଵ

ଶ
ቁ

ହ

= −
ଵ

ଷଶ
 

[B] ቀ−
ଵ

ଶ
ቁ

ସ

=
ଵ

ଵ଺
 

[C] ቀ−
ଵ

ଶ
ቁ

଴

= 1 

[D] ቀ−
ଵ

ଶ
ቁ

଼

=
ଵ

ଶହ଺
 

 

7. 8 cm 

 

 

8. 

8.1 8,468 × 10ସ = 84 680  ;   4,56 × 10ଶ = 456  e  0,031 × 10ଷ = 31 

8.2 743 200 = 7,432 × 10ହ  ;   0,031 × 10ଷ = 3,1 × 10  e  416 = 4,16 × 10ଶ 

 

9. 

9.1 Por exemplo: 35  

9.2 Por exemplo: 0,000 42  

9.3 Por exemplo: 90 000  

 

10. 4,95 × 10ଶହ moléculas de água. 


